CRIM OUTLINE

I. INTRODUCTION 
a. Theories of punishment 
i. What is punishment?
1. Retributive-repair damage to society (backward looking)
2. Utilitarian-designed to benefit society (forward looking)
ii. Why Punish?
1. Retribution (retributive) 
a. Dudley and Stephens 
i. Crime was against the people. Killing is morally wrong therefore it needs to be punished. 
b. Based on theory we all have same interest in society (legitimized vengeance)
c. Problems
i. Leads to overpopulation 
ii. Can you really pay back?
iii. What if you do not have free choices?
2. Deterrence (utilitarian). 
a. A cost benefit analysis
b. General- deter society 
c. Specific- deter the individual 
d. Problems 
i. Do criminals think rationally? (Benthem) 
ii. How do you decide what punishment is proportional to the crime?
iii. Immoral to hold someone as example? (Kant)
3. Incapacitation (utilitarian) 
a. Puts people behind bars to avoid them from committing more crime
b. Problems:
i. Can still hurt people
ii. Can run gangs from prison
iii. Waste of money
iv. How long do you capacitate 
4. Rehabilitation (utilitarian) 
a. To make people better
b. Problems
i. Assumes we know what’s best for them
ii. How do we know we can change them?
iii. Is there another way to help them?
b. Theories of crime
i. What to punish?
1. Rely on common morality 
a. Lawrence (two gay men; sodomy) 
i. Why have law if not enforced
b. Can lead to over criminalization. Problems:
i. Discrimination, poor use of resources, disrespect for the law, cultural differences, stigmatizing criminals. 
2. Malum prohibition- made decision to prohibit them. Misdemearor 
a. IE traffic violation 
3. Malum in se- felony 
a. Inherently immoral or dangerous 
c. Legality- conduct be specifically prohibited by criminal before conduct is punished.  
i. Need to be specific 
1. To give us notice 
a. McBoyle- needs to be written 
i. Airplane across interstate lines
2. Limiting discretion
a. Police 
3. Prevent retroactivity punishment of crimes 
4. Prevent courts from making new laws
ii. Not necessarily written
1. Mochan – harassing phone calls. Without specificity in the laws, a broad range on conduct may be punished and D’s are not on notice as to whether their conduct is prohibited.  
d. Criminal justice system 
i. Its people- everyone is part of the system 
II. ELEMENTS OF A CRIME {AR+MR +[circumstances+result]=crime
a. Actus Reus
i. Positive Acts 
1. Must be voluntary
2. Involuntary acts (MPC 2.01)
a. Reflex or convulsion (Newton)
b. Unconscious or asleep (Cogdon)
c. Hypnotism 
d. Bodily determination not product of D’s effort
i. Martin (drunk in public… then out)
ii. Grand Canyon hypo
3. Habit?- considered voluntary. 
4. Stretching the Actus Reus 
a. A person is not guilty of an offense unless his liability is based on conduct which includes a voluntary act
i. Decina (epileptic driver) 
1. Voluntary act was getting into the car knowing it was putting others at risk. 
ii. Omissions 
1. General rule: no duty to help
a. Pope (child abuse, no duty to help from mother)
b. Why?
i. Tradition
ii. Impractical 
iii. Deflect responsibility from perp
iv. Dangerous 
c. Duty to act:
i. Statutory 
1. Good Samaritan Acts. 
ii. Status relationship- (parent/child- know they are the parent)(husband to wife) (master to apprentice)(ship master to crew and passengers) (innkeeper to inebriated customer).  Argue traditional categories on exam. 
iii. Contract- baby sitter, life-guard, bodyguard, elderly care.
iv. Voluntarily assume care and put person at disadvantage by isolating them 
v. OR put someone else in peril 
d. Excused 
i. If D cannot do it without harming herself 
iii. Status v conduct 
1. Cannot be punished for status alone—ie simply being a drug addict. 
iv. Possession crime
1. Need to know you had possession of the item, if unaware, there is no AR. 
b. Mens Rea- culpability; focuses on level of awareness and intentionality with which the defendant acted. 
i. Levels MPC
1. Purpose (goal or aim)- specific intent
2. Knowingly (virtually certain)- general intent
3. Recklessly (consciously disregards risk)- General intent
a. R v. Cunningham 
4. Negligently (should have been aware)
5. Strict liability (no mens rea) 
ii. Special issues
1. Motive v intent 
a. Motive= underlying reason of crime. Does not need to be proven. 
2. How to prove intent?
a. Motive 
b. Words 
c. Prior planning 
3. Interpreting common law language 
a. Specific intent= purpose, knowing 
b. General intent= recklessly
c. Jewell doctrine (deliberate ignorance)
i. Reckless is knowingly when a person has a strong suspicion and avoids learning the truth
iii. Mistake of Fact 
1. What does a D need to know in order to be guilty of a crime?
2. What if they make a mistake or is ignorant of that fact?
3. Can only be used if you make a mistake of material fact
a. If you don't need to know the fact to be guilty, mistake is not a defense
i. Prince
ii. Feola (killing of a fed officer) (jurisdictional—not related to harm or evil addressed, simply dictate which court has jx). 
b. How do you know if an element is material?
i. Language 
ii. Legislative history 
iii. Policy arguments 
1. Does society consider it morally wrong?
4. Prince (taking an underage girl)
a. Taking- material 
b. Without consent- material 
c. Underage- not material
d. Mistake was NOT a defense 
5. Generally an honest mistake is a defense. Other times it must be honest and reasonable. (Rarely) 
iv. Strict liability- no mens rea requirement. Does not matter if D believed his conduct was proper. (Dotterweich- drug case) 
1. Be careful: even though a statute does not use MR language, MR is a requirement of all crime unless there is a clear LI to negate MR. (Morissette) 
2. Reasons 
a. Industrial revolution 
b. Concerns regarding public safety
c. Increased regulation 
d. Burden on system of proving mens rea 
3. Indicators 
a. Language (but not default reckless)
b. Legislative history
c. Public policy 
i. Public welfare offenses 
ii. Regulated/ high risk industry 
iii. Low punishment 
iv. High number of cases
v. Vicarious liability 
d. Morality crime
i. Statutory rape
ii. Bigamy 
iii. Adultery  
4. No mistake of fact defense 
5. Vicarious liability 
a. Strict liability for another person’s crime
i. Restaurant owner for waitress serving underage
6. Defenses – cannot assert mistake. 
a. Challenge Actus Reas 
b. Constitutional challenges/ good faith defenses 
i. Traci Lords 
1. Was a strict liability crime
a. Language
b. Legislative history
c. Policy 
2. Burden not on prosecution to prove mens rea  
3. Good faith defense bc 1st amendment protection 
v. Mistake of law
1. General rule: mistake of law is no defense 
a. Why
i. Flood gates 
ii. People know laws from living in society
iii. Don't want to penalize those know laws 
2. When will it work?
a. Negates element of offense (lacks mens rea)
i. Liparota 
1. It is a crime to knowingly use food stamps in an unauthorized manner (key words).
ii. Weiss
1. It is a crime to confine someone (knowing it is) without authority 
b. Estoppal situations 
i. Official misstatement of law
1. Not enough that you misread
ii. Judicial decision 
iii. Administrative order 
iv. Official interpretation 
1. AD telling you
c. No notice w/ regulatory offenses  
i. Regulatory offense
ii. No notice
iii. Omission 
iv. Lambert (crime for unreg felon to be in la). 
d. Disagreement with the law is never a defense 
e. Bad advice from lawyer: defense if it negates MR. 
f. Cultural defenses: presumed to know the law, can take into account in sentencing. 
III. Homicide
a. Elements 
i. AR: killing
1. Some jx- must be done w/in a year and a day
ii. MR: depends on grade
iii. Cir: Another human 
iv. Death 
1. When the brain ceases to function-
b. Murder- killing of another human being with malice
i. CL: old CL did not divide murder into degrees. 
ii. Modern: degrees were put into place to confine impact of death penalty
iii. Murder 1- Malice+ premeditation 
1. Carroll Approach 
a. Purposeful
b. Any moment of deliberation 
2. Guthrie/ Anderson approach 
a. Purposeful 
b. And preconceived design 
i. Planning
ii. Motive 
iii. Manner 
3. Defenses:
a. Intoxication
i. Heavily intoxicated so cannot form the required cool and collected thoughts 
b. Diminished capacity 
4. Criticisms:
a. A person who premeditated may not be more culpable than one who kills on impulse. 
i. A son who puts suffering parent out of misery 
iv. Murder 2
1. Malice (disregard for human life) 
a. Intent to kill
i. Inferred from actions/ statements
ii. Inference w/ use of a deadly weapon
b. Intent to cause GBH
c. Gross recklessness= malice (depraved heart)
i. IE Shooting firearm into a crowded room
d. Killing during commission of a felony
c. Manslaughter- killing of another human being without malice
i. Voluntary manslaughter
1. HOP requires:
a. Actual HOP
i. Shaking, trembling etc… 
b. Legally adequate provocation (Some jx- may accidently kill another)
i. Categorical approach 
1. Observation of adultery 
a. Criticism: institutionalize a male centered perspective. 
2. Assault
a. Combat 
b. Injury of close relative
c. Words alone insufficient 
ii. Reasonable person approach  (Maher) 
1. Camplin (obj/ physical characteristics)
2. RP with emotional characteristics 
3. Words alone not enough
iii. MPC:
1. Extreme emotional disturbance 
2. Reasonable explanation for EED
a. From the person’s viewpoint  of a person under the circumstances as D believes them to be. 
b. NOT idiosyncratic moral values 
3. Differences:
a. No act of provocation necessary
b. No issue of cooling time
c. Very subjective approach 
i. Battered spouse 
ii. Dif culture 
d. Victim need not be the person who provoked
e. Words alone may be sufficient
i. Walker 
f. Diminished capacity considered
c. Inadequate cooling time
i. Rekindling 
1. Reminders may rekindle
ii. Long smoldering 
1. HOP building since provocation 
2. Rationale: frailty of the human mind… so willing to mitigate culpability 
a. Criticism: Reasonable people do not kill because of provocation. Diminishes value of victim’s life.
ii. Involuntary Manslaughter/ Negligent Homicide- committed without due caution. 
1. Mere recklessness (MPC)
2. Gross negligence
a. Likelihood of severe risk or harm with little or no social benefit 
3. Dangerous instrumentality doctrine 
a. If D acts negligently with a dangerous instrumentality, such as a gun, knife, or car… D’s behavior may be grossly negligent.  
4. (MPC) Negligent homicide—no “involuntary manslaughter…. Rather it follows the MPC MR standards). 
a. Applies when D acts with a failure to appreciate a risk of death in which the actor should be aware of.  
5. Analysis: Did D know of the risk? Y/N Should D have known?
6.  to determine gross
a. Magnitude of the risk v.
i. Foreseeability or harm to victim
ii. Seriousness of harm 
b. Social utility 
i. Cost of avoidance 
ii. Conduct’s benefits to society 
7. Can be a grossly reckless omission 
a. Failing to care for a starving baby. 
8. Defense: look to causation of death. 
d. Misdemeanor Manslaughter 
i. Death occurring during the commission of a non felony=  IM
ii. Limitations 
1. Must be dangerous 
a. Limit to misdemeanors that rise to the level of criminal negligence 
b. Argue what the legislature intended by passing this law (D is grossly negligent by violating the statute). 
c. Malum per se
i. Do not want to include regulatory offenses 
2. Misdemeanor proximately related to death
a. IE driving without a license is not related. 
e. Felony Murder- use after traditional intent approach. 
i. If death occurs during the commission of felony= murder
1. Special felonies (BARKRM)= M1
a. Stamp 
2. All other felonies = M2
ii. This is a substitute for malice 
1. Implied malice 
iii. Rationale 
1. Historical 
a. All felonies were already punishable by death
2. Already up to no good 
3. Want felonies to be extra careful 
4. Retribution 
iv. Criticisms
1. Legal fiction 
2. All felonies are no longer punishable by death 
3. Bad luck principle 
4. If you want to deter increase penalty for all felonies
5. Create punishment without a mens rea. 
v. Limitations 
1. Inherently dangerous (FM2)
a. In the abstract [Phillips]
i. Must be dangerous in all situations.
ii. Grand theft vs Medical theft 
b. As committed [Hines]
i. Possession of a firearm not inherently dangerous 
c. Prevents the least dangerous felonies. 
2. Independent felony (FM2) [merger doctrine]
a. Is the felony an integral step towards killing someone?
i. Look at definition of felony. 2 ways to know if it merges 
1. Is there a separate purpose in committing felony? (robbery, arson)
2. Does it already require proof of malice? (under circumstances likely to cause GBH) [Smith]. If yes, then not independent. 
b. Rationale: prevents jury confusion, prevents collapsing all homicide grades into FM, no deterrence for certain F’s. 
c. Prevents the most dangerous felonies 
3. During the course of and in furtherance of the felony (All FM)  
a. Planning to temp safety. 
b. In furtherance 
i. Agency theory (Canola)
1. Responsible when you or one of your agents did the killing [but not for killing by a 3rd party].
ii. Proximate cause theory 
1. Shooting by anyone related by the felony 
a. Makes sense for shield cases 
b. We don't want people to start shooting 
c. Broader than agency—nearly every felony that results in a death
iii. Provocative act/ Vicarious liability doctrine (technically not FM) 
1. Implied malice from proactive acts 
a. Creates an atmosphere of malice
2. Needed in an agency jurisdiction to charge for the killing by a 3rd party. 
3. Does not apply when the person killed was being reckless
4. Some jx: death of a felon does not matter
a. Death penalty 
i. Old approach: no evidence of premeditation.
ii. New Approach (Posner): 
iii. When there is major participation 
iv. And reckless indifference to life 

IV. Causation – decides culpability. {Include purposes of punishment} 
a. Issues arise out of crimes requiring a specific result.
b. Transferred intent
i. Punished for harm intended or harm caused? Harm caused. 
1. Some jx punish for harm that occurred (retributive).
2. Some jx punish only by hard intened (MPC)
a. was the harm too remote?
c. SL crimes: causation is still required. 
d. Requires 
i. AR+ MR--- result 
ii. But for/Actual cause (Acosta- helicopters)
1. Link in chain of causation 
a. Not be the only cause
b. Not need to be the last cause
c. Can be any cause 
d. Concurrent causes: either cause may be a cause in fact. 
i. Look to see which person accelerated the death. 
iii. Proximate cause/ legal cause (gives great deference to jury) 
1. Sufficiently direct causation of the crime. 
a. Harm foreseeable (obj.)
i. Manner of harm doesn't have to be foreseeable (Kibbe)
ii. Forseeable firefights would be exposed to harm, doesn't matter who set the 2nd fire (Arzon). 
1. If there is social utility to the conduct—manner of harm may need to be foreseeable [Warner] 
iii. Foreseeable a victim would refuse medical treatment bc of religious reasons, so responsible for all harm. 
2. Intervening Act (superseding?—breaks chain of causation)
a. Act foreseeable?
i. Victim can break chain of causation if it is their free will. 
ii. If intervening act is intentional, not as foreseeable. 
b. What type of act was involved: nature or deliberate? 
c. Who could best control? 
i. Who do we want to punish—include purposes of punishment: Retribution, Deterrence. 
ii. Who do we want to punish? (policy)
d. How much harm did the intervening act produce? 
e. Acts of nature
i. Routine- does not break chain. (Kibbe) 
ii. Extraordinary—superseding 
1. Warner [bolt of lightening].
f. Acts by another person 
i. Victims 
1. Conditions- does not break chain. It is foreseeable that the victim is vulnerable. 
2. Acts- depends on who had control.
a. Acts in response to D are not superseding. 
b. Kervorkian—did not necessarily have control 
c. Stephenson—victim did not have free choice.
i. Foreseeable that victims will do desperate things to get away. 
ii. Important to analyze whether victim actually has free choice.  
g. Medical Care
i. Ordinary neglect- doesn't break chain
1. Disease forseeable
ii. Gross neglect/ intentional maltreatment—superseding. 
h. Additional perpetrator 
i. Related—doesn't break chain
1. Can sometimes depend on who is more related 
ii. Unrelated—may be “independent intervening act” 
i. Complimentary human action 
i. Ordinarily when reckless or negligent conduct of complementary actors leads to the death of an innocent person all surviving participants are held responsible. 
ii. Drag racers 
iii. Russian roulette 
iv. Mutual encouragement 
1. They had a duty to stop cooperating.
2. Use whenever the jury will buy this. 
j. Omission 
i. Reluctance to count omission as an intervening cause, person who set harm into motion is more culpable and person who failed to intervene may also have some responsibility. 
V. Attempt 
a. Inchoate crime
i. No harm happens
b. Purposes of punishment 
i. Deterrence and retribution 
ii. Incapacitation (dangerous to society)
iii. Rehab before they commit a crime.
iv. Don't want people who attempt to be roaming around
c. How much should we punish attempt crimes?
i. Traditional: only a misdemeanor 
ii. Some jx. = half punishment
1.  (there was no harm)
2. full eliminates incentive to stop act. 
iii. Some jx= punish the same (MPC)
1. They have the same mental state
2. Less harm was by chance
3. They were not inspired to stop—something went wrong. 
iv. Policy
1. Police intervention (when does it make sense)
2. Not punishing for bad thoughts
3. Chance for abandonment 
4. Certainty that D intended to commit a crime
d. MR—Purpose (specific intent) (does not matter MR for completed offense) (some jx—only need MR for completed offense IE attempted manslaughter). 
i. If crime is very serious can almost drop down to knowingly 
1. If there is knowledge of the consequences of act
a. IE bomb on an airplane hypo
ii. Why purpose?
1. So all purposes of punishment apply.
2. Want to be certain that D would have caused harm 
iii. How do we decide if its purposeful 
1. Acts
2. Conduct
3. Words
iv. No attempted FM
1. For attempt you need purpose to cause the result which is not needed in FM. 
v. Reckless endangerment: Less MR than attempt, for someone who recklessly engages in conduct which places another person in danger of death or GBH. 
vi. A dangerous joke is not attempt because there is no purpose. 
vii. MPC: MR only needs to be the same as completed offense. 
e. AR: substantial step toward completion of the crime (discuss all steps unless you have last step).
i. First step (mere preparation)
1. Lighter hypo (too early)
2. Bad use of criminal justice time
3. No harm
4. Can change mind
5. “lets go rob someone”
a. not enough for attempt
ii. Last step (common law) (eagleton test)
1. Risky, there is an earlier place where you can know D was going to cause harm
iii. Dangerous proximity (Holmes) (majority) 
1. Steps, Analyze: (Rizzo- never found victim)
a. How many steps has D taken
b. How much more required to complete act
c. Why the harm never occurs 
d. Amount of harm likely to result 
e. Seriousness of perspective harm 
f. Appropriateness of law enforcement inference with D’s acts 
2. Criticism 
a. Gives very little guidance 
iv. Equivocality test (res ipsa loquitor) (Mcquitor test)
1. D’s acts were viewed in the abstract to determine whether they show unequivocal intent to commit crime
a. How often is it clear from your actions? 
b. Do not consider statements made
2. Criticisms:
a. Too high of a barrier for conviction
b. Conversely could lead to presumptions about D’s actions  
v. MPC
1. Substantial step strong corroborative of intent (adopted by more than half)
a. Focuses on what D has done—not what he has left to do. 
i. Buying materials 
ii. Lying in wait. 
b. Jackson 
i. Loaded up car and drove to the bank
c. Allows abandonment defense
d. Criticisms
i. Can still lead to arbitrary decisions 
f. If you don't need MR for completed crime, you don't need MR for attempted crime
i. Statutory rape
ii. Feola (you would only need purpose to assault)
g. Abandonment (CAV)
i. In the old approach: last step was too late to abandon 
ii. When D voluntarily abandons the action
iii. Incentivize people to have their way out of crime
iv. Must show:
1. That he abandoned his effort
2. Must be complete and voluntary renunciation (MPC)
a. Not complete if:
i. waiting for a better time
b. not voluntary if:
i. afraid of getting caught 
3. Ask if this is someone who will not do it again? (McNeal)
h. Solicitation: separate, lower, alternative to attempt 
VI. Impossibility (flipside of attempt)
a. All purposes of punishment apply
b. MR- purpose 
c. AR—last step 
d. When there is NO harm
i. Factual- NO defense 
1. If the facts were as D believed them to be, then there would have been a crime.
a. Pick pocket 
ii. Legal- defense 
1. The end result was not a crime, therefore its not illegal. 
e. MPC approach – rejects impossibility. Determines who we WANT to convict. Expose the problem of arbitrarily putting a factual or legal defense on crime.
i. If the circumstances were as D believed them to be, would there be a crime?
ii. Should charge be mitigated or dismissed because D or D’s actions pose little right of violating the law or causing danger to others. 
1. Mitigate
2. Give defense
f. To analyze:
i. Step 1: 
ii. Did D have purpose?
iii. Did he take a substantial step toward committing that crime
iv. Step 2: 
v. Were the facts that were unknown to the D that made it impossible for the D to complete the crime?
1. If the facts were as D believed them to be, would D have been guilty of a crime? 
2. Then do MPC analysis. 

VII. Accomplice liability 
a. Involved in a crime—then you are guilty 
i. Everyone who participates may be responsible. 
ii. Why punish?
1. They had the MR
2. Crime couldn't have happened without the people plotting
3. Deter people from helping others commit crime
iii. Accountable for the acts of others
1. Aids
2. Abets 
3. Counsels 
b. Old common law 
i. Principal: 1st degree- actual perp. 
ii. 2nd in degree—lookout and getaway driver (aiders and abettors)
iii. accessory before the fact—counsels before the crime—someone who helped plan.
iv. Accessory after the fact—did not know about it ahead of time (ie helping people hide after the crime) ½ punishment
c. Modern: same punishment for accessory after the fact 
i. Assist the principal either before, or during the commission of a crime ar considered accomplices
ii. Same punishment for all except for accessory after the fact
1. Can charge all with the substantive crime directly 
2. AAF: less culpable. 
iii. Principal does not need to be convicted 
1. Immunity 
a. Ie could have insanity or something. 
2. Separate defenses 
3. Separate juries 
4. Only need to show there was a crime committed and you had MR. 
iv. A person unknowingly participates in the crime- they are an instrument and no considered an accomplice. 
d. AR- help with the crime (does not need to be very much help)
i. Encouragement is sufficient 
1. Words may be enough
a. Intended as encouragement
b. Capable of providing assistance. 
ii. Principal does not need to be aware D is helping
iii. Presence not generally enough 
1. is enough if prior agreement 
2. or unless you have a duty
a. ie a sheriff
iv. The help does don't need to contribute
1. Tally – trying to prevent warning to the victim may or may not have actually made a difference in the crime.
v. Soliciting others to commit the crime is an independent basis for AL. 
e. MR- knowingly help with the purpose for the crime to succeed.
i. Have high MR because we make a lot of life decisions that could in fact help in a crime, so there needs to be a purpose.
1. We can use criminal facilitation to make aid without a true purpose a separate and lesser crime. 
ii. Purpose
1. Some circumstances you examine what must have been their purpose.
2. May have dropped to knowingly 
iii. Purpose for the attendant circumstances? If it is strict liability for the principal, it is also strict for the accomplice. 
1. Courts split- he should be punished vs not be punished.
iv. Factors affecting purpose
1. Principal does not need to know D is helping them.
2. mere presence not enough (Hicks) 
a. unless that presence is encouragement 
3. Don't need to know things that principal does not need to know
4. Words can be enough (speak w/ purpose). 
5. Is there a stake in the venture? 
a. Gladstone 
v. Negligence crimes only require negligence
1. Purpose to assist the principal 
2. Negligent regarding the results.  
vi. If different crime committed, need to determine if “reasonably foreseeable” or “natural and probable” result. 
a. purpose for the crime to succeed 
i. foreseeable crimes. We want to try to deter crime (luperello)
1. problem: this is about the MR of another 
2. MPC rejects Luperello. 
f. Instrument to commit a crime
i. If a person unknowingly or unwittingly participates in a crime, that person is not an accomplice but is considered an instrument and does not face accomplice liability. 
g. What about accomplice liability to a suicide?
i. Go through causation analysis 
ii. Analyze culpability of the principal AR+MR then causation, then accomplice liability. 
h. Abandonment:
i. D must abandon before the principal completes the crime. 
ii. CL: no defense 
iii. MPC
1. Wholly thwarts 
2. Or gives timely warning to LEO or takes other proper measures to prevent the crime 
VIII. Conspiracy (separate crime) – inchoate crime (like attempt)
a. Similar to attempt
i. Inchoate crime—
ii. MR
iii. You need two people (like accomplice) 
b. Different from attempt
i. No substantial step to complete crime
c. Rationale 
i. Crime more likely with more people involved
ii. Will not round everyone up because it is close to punishing thoughts alone
iii. Prosecutors like
1. Separate crime w/ own penalties
2. Allows apprehension of conduct at an earlier stage than attempt
3. Members are vicariously liable for acts of co conspirators
4. Allows prosecution of large groups
5. Continuing offenses, so more time to file charges
a. Increases statute of limitations 
6. Allow admission of co-conspirator statement
d. Consequences of joining a conspiracy 
i. Substantive offenses 
ii. Punishes preparatory conduct 
iii. Co-conspirator liability 
1. Even if not enough evidence for accomplice liability, there can be co-c liability by joining the consp. 
iv. Extend statute of limitations 
v. Co-c statements admissible. 
e. AR – agree to commit a crime
i. Does not need to be express
ii. Tacit, implied agreements okay (wink, nod etc…)
iii. Can be shown by concerted action
1. Mere presence not enough, but if it is unlikely that a non participating party would be there, then it can provide evidence of an illegal agreement. 
iv. All co’s need not agree at same time or know each other 
f. Overt Act (required by some jx)
i. Any act (need not to be unlawful) by any conspirator to put conspiracy in motion. 
1. In furtherance of the conspiracy
ii. May be committed by any conspirator 
iii. Only need one
1. Does not have to be a substantial step 
iv. Came from Irish rebellion 
1. Shows it moved from idea stage into planning. 
g. Who are the eligible parties? 
i. Gebardi rule: two people beyond the victim. 
1. Does not include persons protected as victims under statute 
ii. Wharton Rule: prohibits double counting. 
1. Do not charge conspiracy when crime necessarily requires two persons 
a. Unless statutes say otherwise. 
2. Most courts reject this rule
3. If crime requires two people and there are more than two—reject this rule. 
iii. Bilateral v. Unilateral approach 
1. Bilateral – Fed/ CA
a. Need two guilty minds 
i. Ie if there is an undercover agent
ii. 
2. Unilateral – MPC
a. You only need one who wants to commit a crime with another 
h. MR
i. Intend to agree
ii. Purpose for crime to succeed 
1. Proving through direct evidence 
a. Lauria was a pimp
2. Inferred purpose through circumstantial evidence (Knowledge +) (knowledge sufficient for more serious crimes). 
a. Stake in the venture
b. No legitimate use
c. Grossly disproportionate volume 
d. Inflated prices
3. Rationale: we would all do too many things that could meet the knowingly standard. (ie condom manufactors).

i. Co conspirator liability –
i. Co-c v. Accomplice
1. AL: requires purpose to assist in a particular crime and an act of assistance
2. Co-c: when a co-c commits a crime that is reasonably foreseeable given the nature of the conspiracy. 
ii. Pinkerton—charged with substantive crimes
1. Co-C automatically guilty of criminal acts of co-conspirators in furtherance of conspiracy
2. Liable by joining 
3. Need not do anything to help
4. Need not even know co-c will commit that crime
5. MPC rejects pinkerton liability 
a. May only be convicted of substantive crime if there is evidence of accomplice liability. 
6. Does not count for actions prior to joining 
iii. Scope of conspiracies 
1. Kotteakos/ wheel- tied through the same middleman, and do not know each other. 
a. Rationale 
i. Efficient for prosecutors 
ii. Time purposes
b. Common venture connects the spokes 
i. Could be financial stake 
ii. Co-C knew that the wheel stays in business because of the others 
iii. All rely on each other (Bruno) 
iv. If only connection is that they know the same middleman, they are not liable. 
2. Chain—performing different roles along a single distribution line. Anyone can be guilty at any level.
a. Manufacturer 
b. Middleman
i. Multiple middlemen? Show they relied on each other. 
c. Distributors 
d. Problems
i. Hard on the little guy at the bottom. 
iv. Abandonment 
1. To avoid co-c liability 
a. Full and voluntary renunciation 
b. Must notify co-c Or law enforcement 
c. Can still be on the hook for anything previously done
i. This avoids pinkerton liability
d. Not showing up is NOT enough for abandonment. 
2. To avoid conspiracy charge 
a. Full and voluntary renunciation 
b. Must notify co-c or police
c. Must thwart 
i. Actually thwart. 
IX. Defenses – Affirmative defenses (burden on D to prove) 
a. Justifications- D did the right thing in the situation
i. Self defense 
ii. Defense of others 
iii. Necessity  
b. Excuses- social undesirable behavior, but we don't want to punish the D.
i. Insanity
ii. Diminished capacity
iii. Intoxication
1. Voluntary
2. Involuntary. 
c. Self Defense- a defendant is justified to protect himself from the threat of an immediate and unlawful force. 
i. Honest and reasonable fear
1. Goetz—(semi objective standard). Reasonable person in D’s situation. 
a. Physical attributes
b. D’s prior experiences 
c. Circumstances of attack (movements, comments, and past of assailant) 
d. Does not need to be correct 
e. BWS (pros wants most objective standard and D wants the most subjective). 
i. Could include BWS
ii. Presented by expert
2. Imperfect defense—honest but unreasonable belief.
a. If the D has an honest and unreasonable belief, a D crime is mitigated to manslaughter (depends on jx).
i. Voluntary- D was provoked.
ii. IM – when reckless or negligent (MPC). 
3. MPC: Defendant subjectively believes such force is immediately necessary for the purpose of protecting himself against use of unlawful force by such another person in the present situation (Subj.)
a. But no defense for crimes requiring an MR of recklessness or negligence. 
b. An honest but unreasonable fear is a defense only if D is charged with purpose, knowingly, or extreme reckless conduct.  
ii. Death or serious bodily harm
1. CL: strict standard 
2. MPC: or threat of serious felonies like kidnapping, rape and robbery
iii. Imminent threat: when there are no alternatives to using force against another person
1. CL: strict time requirement (obj.)
a. (here and now)
2. Modern CL: reasonable believe imminent
3. MPC: (subj.) it is sufficient that the actor reasonably believed the use of force was immediately necessary on the present occasion.  
a. BWS to make an exception to imminence of danger. 
i. Expert test
1. Some jx allow for whether D suffers from BWS
2. Some jx: allow to whether D believed the force was necessary
3. Some jx: believe that she was under imminent threat and that it was reasonable. 
iv. No excessive force (must be a proportional response). 
1. Non lethal force to respond to lethal force or non lethal force. 
2. Lethal force—only when confronted with lethal force 
3. MPC: limits use of deadly force to cases which the threatened danger is: death, GBH, kidnapping or sexual intercourse compelled by force or threat 
a. A D may be excused from causing injury to a 3rd party unless D acted recklessly or negligently.  
v. Duty to retreat 
1. CL Traditional: no duty to retreat. 
2. Only when planning to use lethal force (Abbott) 
3. May stand ground when defending with non lethal force
4. Arises only when force is used (not mere hearing of a threat). 
5. MPC: only when D knows he can retreat with complete safety. 
a. No duty to retreat in own home (castle laws)
b. Or workplace (unless a coworker is threatening) 
c. Or he is a public officer (using force for his duty). 
6. Rationale: value human life. 
vi. Cannot be initial aggressor 
1. Initial aggressor- had an aggressive act
a. Instigator (walking through a gang neighborhood is not enough)
b. Aggressor- escalated confrontation through use or threatened use of force. 
i. Loses right to use deadly force, but may respond to a continued fight with force. 
c. If D reaches a point of safety and returned, no self defense. (Lany).
i. Only applies if D leaves a place of safety and provokes use of deadly force. 
2. Who escalates violates 
3. MPC: only loses the privilege of SD if 1) he provokes the use of force with the initial purpose of causing death or GBH. 
a. 2) does not lose SD if violence escalates 
vii. Kills or injures an innocent bystander
1. MPC: may kill or injure an innocent bystander unless he acts recklessly or negligently in creating a risk to innocent persons.
a. Negligently= neg homicide 
b. Recklessly= manslaughter 
d. Defense of ofther
i. Stand in other persons shoes (must be correct)
1. Could they use self defense (run down factors)
ii. MPC: Reasonable person would have believed that they had the right of self defense (does not have to be correct)
1. Don't have to be right, have to be reasonable 
e. Necessity (justification)- for D to have chosen the best course of action given the circumstances (not blameworthy and do not need to be deterred) 
i. Choice of evils: choice between immediate physical harm or breaking a law. 
1. Economic necessity insufficient. 
ii. No apparent alterative: if there is an apparent lawful alternative, the D must select it. 
iii. Imminent threat: must face an immediate threat. 
1. CL or relaxed
2. Not homeless stealing food. 
iv. Choose lesser harm: society must agree that D has made the correct decision under the circumstances. 
1. Evaluated by objective standard
a. Lives> property
b. CL: not homicides
i. One life vs one life 
c. MPC/ minority jx: more lives > fewer lives
v. Did not bring upon self
1. CL: cannot create own necessity then rely on that to justify her actions. 
2. MPC: does not lose necessity for intentional crimes—however may be prosecuted to reckless or neg. offenses if reck. or neg. in creating the situations.
vi. No contrary legislative intent—already decided that the necessity does not outweigh the risks to society.  
1. Civil disobedience (direct-protesting a law by breaking that law… indirect- involves violating a law that is not the law being protested) cases, fail because:
a. Harm not imminent 
b. Other lawful alternatives
c. Society has already passed a law determining that D’s assessment of the two evils is incorrect. 
d. May argue for jury nullification when the jury is sympathetic. 
vii. MPC approach: 
1. 1) harm avoided is greater than harm done
2. there is not specific prohibition to the use of choice of evils defense for this offense
3. there is no clear legislative purpose to exclude the choice of evils defense in D’s situation.
4. (NO immanency requirement). 
5. (No absolute prohibition on self created necessity). 
6. (IS available in homicide prosecutions)
viii. Criticisms 
1. Historical abuse
2. No clear definition (12 person jury decides)
3. Theoretical contradictions 
a. Can undermine individual responsibility. 
f. Duress (excuse)- compelled by another persons use of force or threat of force to commit a crime, the D may claim the defense of duress. Deprived the D to exercise free will. 
i. Common law
1. Threat of death or SBH
2. To D or close family member
3. Imminent
4. Such fear that ordinary person would yield
a. No economic duress
b. “person of reasonable firmness in D’s situation”
5. Limitation for homicide
ii. MPC
1. Sliding scale
a. Unlawful force (no economic duress or threat to reputation ) 
b. The greater the crime, the more serious a threat must be to excuse the D’s conduct. 
2. No limitation for homicides 
3. No imperfect duress 
iii. Must not bring duress upon self. 
g. Mental defenses 
i. Competency [no ability to stand trial] (dusky)
1. Understand proceedings
2. Able to participate (consult w/ attorney) 
3. If not—then committed to a mental facility. 
a. If it does not appear to improve, then crim pros. Dropped. 
4. A person must be competent to be executed
a. Should be able to prepare for their death
b. Retribution depends on D being aware 
c. Would seem “uncivilized” 
h. Insanity (Full defense)- A D is excused from committing a crime if he was legally insane. 
i. Rationale:
1.  a person who does not know what she is doing cannot be deterred.
2. Should be in an institution with being stigmatized
a. safety of D and others 
3. comparable to punishing infant
4. D should be punished when it chooses to commit a crime.
ii. McNaughtton: did D know the nature and quality of his acts, did he know his acts were wrong?
1. D presumed sane
2. At time of crime
3. Disease or defect: any abnormal condition of the mind which substantially affects mental or emotional processes and substantially impairs behavior controls. 
a. D does not know nature and quality of acts OR
b. D does not know acts are wrong
4. CL Additions 
a. Irresistible impulse.
i. Would do the same if there were a policeman standing near. 
ii. Criticisms: difficult to tell those who could not control from those who chose not to 
b.  Deific decree: voice from god—not just religious beliefs
c. Durham product rule test: were the D’s actions a product of a mental disease or defect? 
i. If psychiatric expert makes a connection between the acts and mental disease, the D can be judged insane. 
d. Morally v. Legally wrong
i. Generally if a D knows something is legally wrong, he will also know its morally wrong. Knowledge of illegality does not always defeat the MN test.
e. Allows an partially impaired person whose disorientation is extreme but not total to qualify. 
5. Rationale:
a. Insane people should not be punished
b. Focus on the condition of the mind
c. Should be excused if he did not know his acts were wrong
6. Criticisms 
a. Allows a findining of sanity whenever D knows his acts are right or wrong. Sometimes D’s don't appreciate hwy.
b. Unrealistically shackles psychiatric testimony because a psychiatrist may only testify as to a D’s logical and cognitive functions. 
c. Narrow: mentally ill people not treated in prison. 
iii. MPC: a person is not responsible for criminal conduct is he lacks substantial capacity to either appreciate the criminality of his conduct or to conform his conduct to the requirements of the law.
1. Presumed sane at the time of the crime
2. Disease or defect (use for both MPC and Mcnaughton)
a. Legal concept 
b. Factors 
i. Verifiable symptoms 
ii. Medical history 
iii. Number of cases
iv. Easily faked
v. Stigma
vi. Brought upon self 
vii. Other policy concerns 
3. Lacks substantial capacity to:
a. Appreciate wrongfulness OR
b. Control behavior 
iv. Psychopathy: long history of antisocial conduct. Courts do not generally afford a defense to psychopaths merely because they have a predilection to crime. 
i. Diminished capacity (partial defense): evidence of D’s mental condition to prove that the D did not form the MR necessary for a SI crime. (similar to a voluntary intoxication defense). 
i. Clark 
1. No defense
ii. Brawner 
1. Reduce specific intent to general intent crime
2. M1 reduced to M2. 
iii. MPC: may be used as a defense anytime. Expert psychiatric evidence may be used to negate the mens rea for any crime, even if this leads to a full defense. 
1. Can use to prove no mens rea for the crime
iv. Rationale: Should be allowed to negate MR for SI (when it requires a sophisticated intent). 
v. Most jx only allow for this when there is a lesser included defense.
j. Intoxication—must be highly intoxicated. Liquid courage is not allowed. 
i. Involuntary (full defense) 
1. D unaware ingesting drug or alcohol
2. D forced to consumer drug or alcohol 
3. Pathological effect 
a. Produces an unexpected, grossly excessive result, then it is considered involuntary. Only applies if D had no warning. 
4. Defect or disease (insanity defense)
a. Affecting the D’s substantial capacity either to appreciate the criminality of his conduct or to conform his conduct to the law. 
ii. Voluntary (partial defense)
1. Can reduce MR- show that the D was unable to form the requisite MR. 
a. Specific intent to General intent 
i. GI (requires very little planning, an intoxicated person could do this.) 
1. Reckless crimes are general intent
b. VI leading to insanity 
i. [bookmark: _GoBack]When the D has VI’d themselves for so long their brain function is not working any more.
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